1) An insect can choose to act altruistically or not.  The altruistic act will reduce the individuals fitness by 0.4, but will increase the fitness of the recipient by 1.2 .  What would the average relatedness need to be in a population to maintain the act?

2) Use this pedigree to calculate relatedness.  How much would the benefits have to impact fitness in order for an actor to incur a cost of 0.1?
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3) What are the three explanations the book provides for senescence?  Which are evolutionary?  Why are they considered evolutionary explanations?

4) Consider the three species concepts described in the book.  What is one advantage and one disadvantage for each?  What is the difference between species concepts, species definitions, and species criteria?

5) With respect to what we have learned about hardy-weinberg conditions, why is it important for selection or drift to be stronger than migration in order for speciation to occur?

6) What is reinforcement?  How does prezygotic isolation evolve without being considered reinforcement?
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